"Quiz 6.1 — The Cosine and Sine Functions
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Suppose ¥ = 4ncos(—6r +4) — 3. In your answers, enter "pi’
for o
(a) The amplitude of the graph is .

(b) The period of the graphis .

(c) The phase (horizontal shift) of the graph is

(d) The midline (vertical shift) of the graphisy=__ .
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(Click on the graph to get a better look.)

The curve above is the graph of a sinusoidal function f that
passes through the points {(—4,—3) and (2,—3). Find a sinu-
soidal equation for f of the form f{x) =Acos(Bx—C)+D. If
needed, you can enter m as "pi’ in your answer, otherwise use at
least 3 decimal digits.
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